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secld = and tan@ > 0. Thencosf = ——-ﬁ, and 0 must be in quadrant Il =  sinf < 0.

sin@
Therefore, sinf = —/1 — cos20 = 25 ,cscf = —12 tang = =12 and
— s =—h 12 cosf 5

cos
cot0——§
sin@ 1 _sinf+1  sinf+1

cos@ " cos6  cosf  /1—sin20

sinf = § for 0 in quadrant I. Then tan6 + sec § =

cosH:—léj- andf <O <m Thenf=% = 20 = r = om, So sin20 = sin & = —sin %
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2 - sin45°
= in105e ~ 146
2? =224+ 82-2(2)(8)-cos120°=84 < z~+/84~0.17
-sin110°

sin B = 35;’(‘)_1— ~ 0626 < /B 38.79°. Then ZC ~ 180° — 110° — 38.79° = 31.21°
and so z =~ 9s;n31_2_1 ~ 3.3.
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